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Lulu has 10 oranges.
‘She puts an equal number of oranges (n 2 baskats.
How many oranges are there n each basket?

Thare are

oranges In each basket.
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Draw to complete the groups.
Write the missing numbars.
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There are 6 doughnuts.
Put them equally Into 2 boxes.
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There are [ | doughnuts in each box.

There are 10 cookies.
Put them equally Into 5 Jars.
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Thereare [ | cookies naach ar.
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~ Mind Workout i

e Ao A 4

Move some balls so that there Is the.
same number of balls In each box.

Thara wit ba [l bals n aach box

You can try this using

& O
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There are 9 ce lolles.
3 boys share the (ce lolies equally.
How many (ce lollies does each boy get?
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Eachboy gets ca lollis.
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L

Emma puts 2 cans of tomato soup Into a box.
How many bores does she need for all the cans?
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There ara 12 flowars.
Lulu uses 3 flowers In each bouguat.
How many bouquats does she get?

She gets 4 bouquets.
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‘There are 6 cookies. 2
Each child takes the same number of cookies. F- &
-

How many cookies does each child gat?
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Each chid gets 2 cookles.
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Grouping Equally

Circle.
Writa the missing numbers.
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There are 12 fish.
Circle groups of 2.
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Thereare

groups of 2 ish

There are 16 whales.
Circle groups of 4
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Thereare

a a
Qa a

groups of 4 whles.
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@ G toshow aqua groups.

Wet the missing numbers.
(@) Emmabuys 15 flowars.

She puts 3 flowers In each vase.
How many vases does she nead?
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Sheneeds | | vases.

(@ Ashopkaapar has 18 oranges.
He puts 2 oranges In each bag.
How many bags does he need?

.

Hancads [ | bags.
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@ P12 chorris qualy on 3 scas o ok

How many chervies are thare on each slice of cake?
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There are [ cherieson cach siceo ke

@ scridrnshro 10 vt el

How many swaets does each child get?

Each chtd gets [l sweets





